EVALUATING FUNCTIONS: Evaluate each function at the specified value of
the independent variable and simplify.

1. f(x) = 2x2 +3x —5 2.f(x) = |x]-4

a.f(3) = 2(-3) 33 g a. f(-x) =

1(4\—‘1-5:@

b. —f(x) %7@ J&XVSW y o Ref{X=2) 'IX*ZLLI )

z_xl-:sx;é—j :
’ X
. G 3en-s| o [13%kd
2 Yx*L Ly -9 ‘
[ Ix* -5l
b
3. f(x) =Vx2 - 2x 4.f(x)=x2+7

a. f(-3) = \j (,331,2(E ﬁ’fw h+0
Pl ° (x+5T) - (& T)

S {—f" ]
J (%2 (- 71 N
(-X)"-2 ?m_ )(ZJ}ththﬂ/z’%‘ﬂ/
e (= 5 | s
n(2xsh)

5.1f f(x)= 3x3 + Bx2 + 5x —1and | 6. Use the graph to estimate the
f(-1) = -13, what is the value of value: '
Be

152360 B+ 5(-) - |
15z 240 - B= ) ™

Al thay =€) . blal)=2.
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Directions: Write each inequality in interval notation,

A58 (e N e e g |

9. x>80rx<3 10.-1<x<7

¢, 8] (3,0) )

Directions: Determine the interval(s) where the function is increasing,
decreasing, or constant.

11. 12.
. (6.5.5)
(~2.4.5) z v
44
3l
st \ > :
-7—3-2—1_1. 1 2 3 4 5]6 7 =z i
-2
- -3,
e s |
-5 (4,-6)
-G+ )
-74 (5, -6)
-84 (6'18) A
Increasing: ('L‘i ‘?) (3;"!X5ﬂ(4>crecsing: (- N, ‘D ( 100>
Decreasing: (2 3\ Decreasing: (‘|, 1)
Constant: (L" .5'7 Constant: __[]_D_Dﬁ.,
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13. 2 s
increasing: _( =1 ) increasing: (1 n0)

Decreasing: (- 00, ‘|\\ an /503 Decreasing: ( a4 97 ‘\
Constant: __ NONE Constant: _NON .

Directions: Write the domain and range of each function in interval
notation.

15. ' 16. 1t
: | ]
/ :
B | 46 ﬁ £ BRIEEE % g g g e EEETHE
/ 1] >
] 4 , it &
¥ , ' F AW
Domain: __ (=4, 0 ) Domain: (-0, A/)\
Range: (-/)0/ Lﬂ Range: (’/)(),, /)O\
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17.

-l
bee!

N e
Y

Domain: (-./)O,. 2) (2. /)o\
Range: (- S /\0\

P §

18.

=X

4

Domain: E’ W, M\,

| Range: /: £y /\0\

19; e
b

Domain: C A4 10)
Range: E'\ | I'\‘

20. :ﬂ" ﬁ

Domain: ( &,() fz.ag\)

Range: ("ZZQ, 2] l O,M}
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| Directions: Sidie ine end behavior of for each.

205

vy 43l
z 40
TN
o TN
‘ LHET R
| ]

X = =2, f(x) > =p0
X - °°,f‘X)—) -a)

1__;_,L,,,_ —L -:
4 VI NG S
- Lk :
CTAL

v

1.1

23. BEREEFEE
l’,

| %

0.9

x> —=, fx) > _~O

x> = ,f(x)-» _ 00

24,

4 {4t f
‘ Gtk (2 b el AR 2
' B4 4
& i vk
| et

| =

x> —w, fx)» 00
x- o f(x)=» 200

25. f(x) = —2x> —x?+2
QeQyY L. ood
Lecd CO. NQ 3

€

x— —w, fx) » _ 00
x—> » fx)» =0

26. f(x) =2x3 —5x

deyree: odd
Lead Co' PO 4

7\

s iy )
x> o fx) > 00

x = —, f(x) =
x— o  f(x)-

27. f(x) = ~5x*—x +7

d( ye¢t' CVLD
Ledth ot G Yy

Goud)
m

28, f(x) = 5x% —4x — 8

dearee. even
uz?d (d. pos N7

x - —=, f(x) = 5.4
o0

x—- o, f(x)—

L
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Directions: Factor each polynomial completely.

29. 36x4- 18x3- 9x2
Gy (w*-2% =)

30. x2+x-72

(Crra)(-9) )

31.5x%-18x+9
V

32. 32+ 2x — -l

/ / -5
5% %= nsf-ﬂ}q (5x-3) 3x* % *'5>5
5x(x-3) -53(x=3)"7 (*3) 3><(><-f),t:»l_%'\_f_ﬁ
s (B3x+5)X-1)])
6= T 34, 81 - 4x?
gL TN [(T+2x)X9-2%)
3% (2y - fs\ £1(2%-3) oy
MX 3))
35. x34+5x2—9x. =45 1 11 36. 42mc + 36md — 7n?c — 6n2d
2 (X393~ 9)ka5 om C1e vy =1 (e + L)
m - NT) (¢ +Hed)
((5@& j)(x;Lsﬂ 4G iy
37. x*—2x% + 1 Wediis v 38, a1
(x==N(X>- i< O 1)
(xy&i&#mxgpj DX
7 lx+n’~(x—Dll (H’L)[ BXT
39. 8ul+1 | 40. 27x3 — 12593
Q=244 =] {14

(o D(=2GD)

=3x _h=5y
[(3y-59)(a%+ 15 Xq i)

4]. x +16
«@ﬁm&

42.16x% — 40x + 25

(L)x 5 Yx = 5\\)

43. 3x* — 9x3 — 30x%

44, 15x -x —2

s Gl ~10) 15X % é?co bx\z
ZXEH(X-5)(x+2)] SxB =
* [(5X=2)(3XF))

Scanned with CamScanner



https://v3.camscanner.com/user/download

Directions: Simplify each rational expression, \

\ e
45, Xo+E20 ()H\‘ﬂQ( lJ) AL (24%x)(2}%xX)
x242x —15 (X+\$)()< } xX24+x -6 (x+57(x 2)
47. State the zeros and the domain of: 48. For which values of x is the
A e X =2 following expressuon undefmede
o o x2+2x f(x) = 5*"2
L (X + DX 53 5 (G x)(5+><
| domQ\ﬂ (-0, -1 (7, 5)(5,@ —
20 S ey Y 7
(xink) "~ (g, G -
oEpme wan [T [ ) e
LI cz}x/fzzxf (bl @yNouBi . Lyl
srm-u | CHOGED GGA (e E ) (Wi
By ( X +3) ~2(X+3) 5X-2
3%-2Xx 3) 3-X m
Ex -joqx Li (X AT A
v - ;%:2-1- (xzrt\ LCD! 5 ’3,1)*‘2 _1 o5 ’L_CD AT
ol: T (Px) (%> 7 (X x(s?’i W (x)
2 L 3X =Y | 3x-4x-Y
Bt Uy + (XD 4X+3x+3
A +1) : s B
(x4 TR
i R L
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Directions: Simplify the following expressions: assume no vdrioble is equal to 0.

53. (2x*)3 o A B
-3 -\ " 30xty-2 T | V.
2 X = b X
5 Gy® LGy g 'J_X_i_‘#:‘ 5 a3py\~? 200
T2y2 21x~5 ' 6. (a%z) by (
b o
57 57;76)0 _ ) 58. a2 - q*t7 . ax—3
: ( ) 2+ x+TE¥X-3
2 2x%x+4 b
o

directions: Simplify each of the foIIowung SHOW HOW TO REWRITE IT AS A

RADICAL!

is;) \F?._l— [ 60. (- 32)s

I 32)

P el (—81)3®3
”ﬂ)

(06r G

directions: Rewrite as a fractional exponent.

25 [y

63‘{/—.
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Direcfions: Perform the indicated operations. Write answers Using only positive
exponents.
65. (4m§2§—3m, g z 66. (Zy%z)(3y‘2y"§) ( xty3z %
T — -5 7. 16x‘16yz ‘\
JZm 3 U\) /«12% 7_O\I>
l.'
022/3 | 2 j
N
S E—
68 (x%)z X3 . XZ 69. i/._.+3i/_4 25
"\ . 2\/_ 3T +
g X ; &3 AT m'j,(tf:r )’SJ"Z J/”f' n;i
U3 -3 + 2J3 /%% 74+, J2-2
IEETA W
62" "

Directions: Solve the equation by factoring.

71.27x2+18x =0

3 X +2\ =)

72. 5x2—32x —21=0

05 \
(5 "35’ 13 2V =6

SX (X/’D +3(x-1D=0O

o

73.x2+3x =10

74 2x + 20x + 12 = 5x — x2

2 2 £ ~S5Y +
X +3%-/6= O A 2 e
2 i
15)X2) = IXTHSX +1T= 0
(x3.5)(%-2) AISEH 0
X:-5 ‘X:Z,) g ' /( /,-.O
3x0x=-4)//x=)
PRSI/ 2 E—"
h Directions: Solve the equation by using the quadratic formula. Write your
answer in simplest radical form,
75.5%2—3x —6 =0 7(,2 '/Z’],/x-i- 0 = 3x2 — 16x + 32
d=5 bzrd .€=270 0 2XTHNY -9
X=3 ilvl[vﬂz— ‘-Hj)#l\ =2x-9%

= Zi 2-Y1)(-3)
X=.3 + oo } "‘"L%Tﬁi
e e X=2Ete =957
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Jiven conditions.

1 R Yl 2 VR o

77. Contains the point (-4, -2) and has
a slope of 1 .

Y27 A0 +“\
Yz =15x sr'?_

('5, '/7_)(

/8. Passes through the points (-3,7)
and (5,-3).
m = -3 "7
&
N 432 T (%-%)

Y3 g x 23 \9,-1_45.“5

_:").._9.- AU,
§

7

b—

79. Find the equation of the line that is
derpendicular to #78 and passes

80. Has an x - intercept of Bonaa Y
intercept of -1.

)

‘hrough the point (4,1). (=3, 0) (O,—m
m:qls Yooy _O____‘\‘_\____-: _\b
Y- 1= 415 (x=Y) .3,OC i
-1= 4]g¥x =1V =il %4 I v
2 Bveew cpe 0 il ver X7
R i ——

directions: Fill in the table of values and graph each porem‘ function.

Ly =x2

VI3 WY YA

A}

i3

s N @ & o o N7

i
t-lNKd.&OlON' ‘L'br.'nkt'»kt-
T

PPkl pe

0 e
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83'y= lxl 1\7 ’W T
X Yy 5
4
R 1 s
-1 : ‘ ] 1 |
; 7 6 1s L4 |3 fo | 1 2 13 lels le b
0 O 2
1 l B4 7 0
2 2 ]
311
84. y=2* L1111
[ 4
s | |
S y T
=) ‘/L{ 2 +
-1 ‘/ 7 s ls LiChr—er®: o 1 2 ;34 ess‘L>
L S B
0 | % |
] 7 g
2 N REE
v 1

function.

Directions: Describe the transformation compared to the parent

B5.y=Ax=—275

(P92, up5)

86.y=—(x+3)* —4

N
l;{gYU LOFF d”“@

87. y= 2(x —1)?

NG
\g’iﬁf% TGNt |

p:jz

. ————————— 4

88.y== |x+4| \;_/-—
Vele(aJ ,( ¥+ Y own |
sShrnk
v\ 72 Y
\ PTG
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Directions: Use each parent function to graph each tfransformed

function. NO GRAPHING CALCULATOR OR APPLICATION SHOULD BE
USED.

89.y=vx—1+2 0. y——(x+2)2-3
Z\QY)H UPQ- w x avis mﬂ 2 2 Jown 3

/ i AT
7

8
i -
> = ‘
- /k 4 |
3 . |
2
1

~ 800 ¢n \ o |
B 3 N |
Lz s Is la I3 lo |y 1 a. s Is ls I7 o L7 le |5 la L3 |o [ 1 1 s ls Is ls b

- NV W s T O N
R
e |
V£,
. z
\

N

PR N R N A A S
Eé 2*;:&»“
v,

I

21.y= 2(x+1)2 ek 92'}':_5WD ue :

t
4 Shrckch ; (n"”j "
= fgj"“; Qﬁﬂ pudlask X0 S 1
8 6
j S 2\ S
SN/ A A Eﬁ"" ‘
ﬂ JI 1!(‘\}( '«
may AXY4
’ 3 | X1 112 13 14 s |6 |7 7 ts Is Lo |3 f2 r1 YI i

R T T TR TR R I

l
{\
i
i<
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